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Question ID : 98958014000
Status : Answered
Chosen Option : 2
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Question ID : 98958014004
Status : Answered
Chosen Option: 2
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Question ID : 98958014021
Status : Answered
Chosen Option : 2
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Question ID : 98958014020
Status : Not Answered
Chosen Option : --

3 Rr=ffEa guer & v FEA (?) F TE W A @ ge Hiweh?

114, 127, 153, 192, 244, ?
Ans X 1. 344




v'2 309
X 3 284
X 4 361

Question ID : 98958014010
Status : Answered
Chosen Option : 2
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Question ID : 98958014016
Status : Answered
Chosen Option : 4

Y R T Redt # ¥ ofd dE F TS ST
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Question ID : 98958014013
Status : Not Answered
Chosen Option : --
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Question ID : 98958014009
Status : Answered
Chosen Option: 2

Q.9 w mE s &, TROPICAL & PORTLACI & &7 & farar smr &1 =8 smm & DISTANCE =t 3% R

FATET?
Ans 1. ISTSNAEF
< 2 STIDECNA
< 3. TSIDECAN
' 4 TSIDECNA
Question ID : 98958014005
Status : Answered
Chosen Option : 4
Q.10

RrafafeT sghe # fras B §2

Ans x 1. 20
X2 22
Vs 18
X416
Question ID : 98958014018
Status : Not Answered
Chosen Option : --
Q.11

Ans
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Question ID : 98958014017
Status : Answered
Chosen Option : 4

Q12 Pl g@er & 9o REs (7) & T W SH-37 HER-GHg HC?

DGJ, BDN, ZAR, XXV, ?
Ans  of 1. VUZ

X 2 YUY

X3 VTZ

X 4 Uuz

Question ID : 98958014007
Status : Answered
Chosen Option: 1

Q.13 f=fafEm Tr-3eR TEl § ¥ 39 - B 9T @ wewae § d@R uE A #1 s
HETT-HAF AT =ThA HiTC

Ans 1. DHLPT
X 2 UYCGK
V5 RVZDG
X+ AEIMQ

Question ID : 98958014001
Status : Answered
Chosen Option: 3

Q.14 Three of the following four words are alike in a certain way and one is different. Pick the odd word out.

Ans  of 1. Silver
/< 2. Orange
< 3 Violet
/< 4 Indigo

Question ID : 98958014002
Status : Answered
Chosen Option: 1

Q.15 f=fafEs sr dem-geat § ¥ 99 370 B =R wware § 3R v E 3wEs ¥ e TEm
TIH w1 =T FATI

Ans X1 4 ;27
X216 : 125
V' 49 : 218
X49:64

Question ID : 98958014012
Status : Answered
Chosen Option : 3
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Question ID : 98958014019
Status : Answered
Chosen Option : 2

Q.17 Inthe Venn diagram shown here, the triangle represents "students’, the circle represents "diploma holders® and the
quadrilateral represents ‘graduates’. The numbers given in the diagram represents number of persons of that particular
category.

How many students are diploma holders but NOT graduates?

Ans x1_ 11
X 2 30
VR
X 4 40

Question ID : 98958014023
Status : Answered
Chosen Option : 4

Q.18 ‘Heart® is related to ‘Circulation® in the same way as “Kidney’ is related to *

Ans 1. Energy Production
/< 2. Reproduction
' 3. Excretion
/< 4. Respiration

Question ID : 98958014003
Status : Answered
Chosen Option: 3

Q19 Rrmfaffa FHEr # T8 5 F AT B o REal #F W sge & TR
5+ 16-4x 14 + 2 = 59
Ans X1' . 3‘ﬁT %
ErE
Xox 3R+
X4+ 3 -

Question ID : 98958014015




Status : Answered
Chosen Option : 2

Q.20 =fy "wesft e $r ofie F g W@ F A S A e DR et § ¥ e ser G
&=

N
O

Ans R
. $i
b

, =
«.@
NEE
o

p

Question ID : 98958014022
Status : Answered
Chosen Option : 2

¥ few T et # ¥ od FEA F T Hife

125 343 216

ans o1
X22
X33
X4 4

Question ID : 98958014014
Status : Answered
Chosen Option: 1

Q.22 e e oo &, LAMINATE % 121139141205 foram =mam &1 36 smor & SYSTEMIC &r &% foram
FAE?

Ans X 1.1825182051393
X 2. 1925192051493
v 3 1925192051393
X 4.1925192051383




Question ID : 98958014006
Status : Answered
Chosen Option : 3

Q23 A + B @7 3T T A, B # 587 ¥

‘A-B @ 3T EA BE Y

‘A x B & HT § ‘A, B FT a2 &

‘A + B & 3T ¥ A, B & 9fT ¥

e V+UxQ-T+R+PxS¢E aP, V¥ Gy vger gafoa &7
Ans (1_m

X 2 =i
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< 4 T

Question ID : 98958014008
Status : Not Answered
Chosen Option : --

Q.24 7 famew =1 o9 fFT S S FEw § 3 WE ¥ w99 § B e gl e, uger e w
el ¥

1221825 15 92

Ans  of 1. 240
X 2 225

X 3 245

X 4 250

Question ID : 98958014011
Status : Answered
Chosen Option: 1

OB ey & oS owen A, geAESA (?) F TUSH W FA-HT HET HIT?

M,E, P,H 5 7.V, N
Ans XT M

V2K

XU

xaJ

Question ID : 98958013999
Status : Answered
Chosen Option : 2

Section : General Awareness

Q.1 % gl Us fBsT o’ gk & s@es i &7
Ans X‘l'wm

o 2. & o arideaR

25 3. AR ATIg

5 4. g i




Question ID : 98958014616
Status : Answered
Chosen Option : 2

Q.2 == 21 fFa @« 4 ST 8?

Ans

p R
25 2. dfefisifer
25 3. Rnde
o 4 afRm

Question ID : 98958014620
Status : Answered
Chosen Option : 4

Q.3 Y frE 430 1 Uk IIaT Titpfaes uelles 82

Ans

X 1o
p A
25 3. minR (s

o 4 3o

Question ID : 98958014599
Status : Answered
Chosen Option: 1

Q.4 WRA & fhT ToT UR 'IIEH d2r & AE >1?

Ans

o 1.

25 2. wAfem
5 3. sifam

25 4. e

Question ID : 98958014611
Status : Answered
Chosen Option : 1

Q.5 fA=fafaa d @ WRA &1 99 ST heR UiE -1 82

Ans

&1 ERwE

o 2. sTaTeReTe g e
X 3. oof frarsh o
25 4. URET wE

Question ID : 98958014609
Status : Answered
Chosen Option : 2

Q.6 ugH-geRh (cafsd) _______ il @l gifdes 21fvh & uRafda et 81

Ans

1
5 2. afdE
25 3. e

p R i

Question ID : 98958014605
Status : Answered
Chosen Option: 1
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Question ID : 98958014615
Status : Answered
Chosen Option: 2

Q.8 A HIRE T &R &3 ATt Ugel Tt qar=asit e &7
Ans X 1 sfHR gfem

X 2. frge atag

25 3. i deafRa
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Question ID : 98958014614
Status : Not Answered
Chosen Option : --

Q.9 RIS & TG & T gl ST 8?2
Ans 3" 1 grsidieisht

25 2. siffelteisht

o 3. TS

25 4. Rsiesht

Question ID : 98958014606
Status : Answered
Chosen Option: 3
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Ans X" 1 g &l e

o 2 T ATy
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Question ID : 98958014618
Status : Not Answered
Chosen Option : --

Q.11 What was the theme of World AIDS Day 2018?
Ans X" 1. We Shall Overcome

X 2. Check Yourself
x 3. Save Yourself

J 4. Know your Status

Question ID : 98958014622
Status : Answered
Chosen Option : 4

Q.12 Tk T & ST & I=aa: foha =1 mafSid forg =4 87

Ans




Kos
K22
W33
K47

Question ID : 98958014617
Status : Answered
Chosen Option : 3

Q.13 Which theory is used to make long-run predictions about exchange rates in a flexible

exchange rate system?

Ans « 1. Purchasing Power Parity Theory
x 2. Balance of Payment Theory
x 3. Interest Rate Approach

X 4. Portfolio Balance Approach

Question ID : 98958014602
Status : Not Answered
Chosen Option : --

Q.14 Rdg #aw fmr AT (IMD) & igHR, 2018 & WRd & werdt o1fas 77 T &iF-91 Ur?

Ans (1_;431—5,;}%;
< 2. R
25 3. mfeRm

p

Question ID : 98958014610
Status : Answered
Chosen Option : 3

Q.15 #AfEash & I WA &t ugaTAg St AR qa1, Tger ofik arama<T & fafa srar gl

Ans X' 1 d%m
X 2.3 =n
X 3. sauTdtherT
o 4 Faem

Question ID : 98958014603
Status : Answered
Chosen Option : 4

Q.16 In which part of the body is blood produced?
Ans " 1 Brain

« 2. Bone Marrow

x 3. Heart
x 4. Lungs

Question ID : 98958014604
Status : Answered
Chosen Option : 2

Q.17 f=fof@a | & aivener & ag @« wiF-91 82

Ans JTW@
5 2. @




Question ID : 98958014619
Status : Answered
Chosen Option: 1

Q.18 FEaR favm R Rer 2018 # fArf&a sarues g2 weier yoneft o1 A1 Fa15g1
Ans X" 1. 3meRT (ACHARAN)

of 2. = (SAMPANN)
25 3. TEHE (SAMADHAN)
5 4. fa9H (VIGYAN)

Question ID : 98958014621
Status : Answered
Chosen Option : 3

Q.19 In which medical condition is the eye's optic nerve damaged and the condition worsens over
time?

Ans X" 1 Dry Eye
x 2. Age-related Macular Degeneration (AMD)
( 3. Glaucoma

X 4. Cataract

Question ID : 98958014607
Status : Answered
Chosen Option: 3

Q.20 STEtaT foRe wer i SreTIferal Y ges uaRes T (SfeR) 82
Ans X' 1 gREs

of 2. sromes wa

25 3w
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Question ID : 98958014600
Status : Not Answered
Chosen Option : --

Q.21 sficient & Frfaf@a § @ - =i et St 82
Ans  of 1 wricdEl

25 2. ars@ i

X 3. Fandmendt

X 4 ga

Question ID : 98958014608
Status : Answered
Chosen Option : 1

Q.22 f=faf@a # & sy @ sifaw Tama & ur?
Ans B 1. @red siet @

X 2. smTe et @

X 3. 75w ghw
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Question ID : 98958014613
Status : Not Answered
Chosen Option : --

Q.23 9RTTE 6 Fers’ fhg adf 7 @i 7 oft?

Ans X' 1 1854
W 21897
X 3.1878
5 4.1867

Question ID : 98958014612
Status : Not Answered
Chosen Option : --

Q.24 AT & hi-41 RAgia ag ufaufea &=ar @ fF i 22 g Fafa a1 & Saerag
FRAATYAE 3R agarad d IeaTe sedl &7

Ans X" 1. gge-ai9eye disd
o 2. dFreR-siedia Aisa

X 3. dicfa-@m Hied
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Question ID : 98958014601
Status : Not Answered
Chosen Option : --

Q.25 In December 2018, Havelock Island was renamed as

Ans X" 1 Swaheed Dweep

X 2. Netaji Subhash Bose Island

( 3. Swaraj Dweep

x 4. Veer Savarkar Island

Question ID : 98958014623
Status : Answered
Chosen Option : 3

Section : Quantitative Aptitude

Q.1 O &g = v gra F ABC T% =19 ¥, S 3ed F Fm W 110° F1 H0r @ &1 ST AB F g P AW

= AT ¥ a9 2 CBP sy

Ans X 1. B5°
X 2 70°
X 3 60°
v 4 B5°

Question ID : 98958013614
Status : Answered
Chosen Option : 4

Q2 15% yfew Hr T F 2 791 & Bw Tx W TgE == HR TUROT =S F HAR 9 1 x F AW

T 82

Ans 1. 600
X 2 450
V= 400




< 4 500

Question ID : 98958013606
Status : Answered
Chosen Option : 3

Q.3 maﬁﬂmﬁ%%%ﬁﬁﬁmgmmﬁmm@mméﬂ
¥ g g mﬁa’aq—éﬂ;‘rwm,mm(ﬁmﬁﬁ}k

Ans  of 1. 35
X2 27
X3 42
X4 30

Question ID : 98958013608
Status : Answered
Chosen Option: 1

Q4 @ argt # & 9% &7 7962 F Hp¥ T &9 S §| 3 § U a%g R AT & 30% @ g &
ST gEdy avg 9T 26% gl @ 81 Tk g Brerat R afeer wner s @it gw
(E2HeE & U T d&)?

Ans o1 5.7% gIfer
X 2 6.0% gfar
X 3 5.7% =T
X 4 6.0% =T

Question ID : 98958013604
Status : Answered
Chosen Option : 1

9% 5in%32° 1 sin258° — sin30° 4 sec260° FTHTA sITaT &
Ans - X 1. 35

V245

<355

X4 4

Question ID : 98958013619
Status : Answered
Chosen Option : 2

Q.6 w7 aifemr 6 a¥ & s fafes dreAt & 3= 7 art & Few # @ §

Ll

af
2011 |2012 | 2013 | 2014 | 2015 | 2016
A 500 |480 |520 |620 |650 |630
B 450 |420 530 480 |520 |400
C 400 |450 460 |520 |540 |430

ofe T AEA GANT OF I A I S FW F FF TEA F Ied HNE (TE-AR) F T H gUET AT,
at ¥ 2013 & ¥ o IR Fr o wE B v w Ao BewEs (@w) & ST For 32
(fFFeas To7 e #)

Ans x1' 580
X 2 62°
< 3. 5B°
v 4 60°




Question ID : 98958013623
Status : Not Answered
Chosen Option : --

Q7 gfxa+b+c=10 3R ab+bc+ca=32 & aF a®*+b* + ¢ —3abc T &

Ans X160
v'2 40
< 3 50
< 4 70
Question ID : 98958013612
Status : Answered
Chosen Option : 2
Q.8 g aifemr 6 a¥ ¥ g Rfle oiwat & 3= 715 HNT fr TEA F A E
i
¥
1300 et Tt Taso Tess oo |
B |450 |420 |530 |480 [520 [400 |
C _ [400 [450 [460 [520 |s40 [430
a9 2015 F FfT oAl ZANT S 5 FR T Fo WEAT H g A I 2016 F wer A g@nr A=
T FR T FEw e ufon #7 §F (Guwe F eean o we )2
s X114.4%
v'2 14.6%
< 3 14.8%
< 4 14.9%
Question ID : 98958013622
Status : Not Answered
Chosen Option : --
Q.9 1 1
g Vr+==V6 § A+ W E:
Ans

v 114
X216
X312
X418

Question ID : 98958013611
Status : Answered
Chosen Option: 1

Q.10 T a—-b=5 H&]Tab:ﬁ%, Fﬂ'(aa—bBJW%:

Ans

v 215
X 2 155
X 3 90
X 4 225

Question ID : 98958013610
Status : Answered
Chosen Option : 2

Q.11




I 2sin® = 5cosb g, dr st B¥cast T &

sin 60— cosf

Ans

—_

N

&~ ¢
Wil Wk ww oW

L« X XX

Question ID : 98958013618
Status : Answered
Chosen Option : 4

Q.12 Five cubes, each of edge 3 cm are joined end to end. What is the total surface area of the resulting cuboid, in em??

Ans X 1. 280
X2 244
X 3. 270
W 4 198

Question ID : 98958013609
Status : Answered
Chosen Option : 4

1 152+58+29%x2—35%x2+0.5 T AT T &
Ans X 1.4.8

V252

X332

X454

Question ID : 98958013600
Status : Answered
Chosen Option : 2

Q.14 14BC # BC W v fig P =@ wo= § i BP: PC = 4:11. Q, BP &7 77 fiig §1 ar(AABQ) :
ar(AABC) e &

s of1.2:15
X23:13
X32:11
X42:13

Question ID : 98958013615
Status : Answered
Chosen Option: 1

Q.15 7z aifemr 6 a9 & glue BfEes oiwAT F a=ir a8 FRT $T FEAT Fr g T

Ll

bl
2011 12012 | 2013 | 2014 | 2015 | 2016
A 500 480 |520 |620 |650 |630
B 450 420 |530 [480 |520 |400
o] 400 450 460 | 520 [540 [430

a¥ 2014 #Hlv 2016 F <% B gawr &= 718 FAT Fr T FEAw T a¥ 2015 v 2016 F owH C
g &= % FRT B T FEA FIFIE FA 2




Ans X 1.85 : 97

X2 86 :97
V'3 88 :97
X4 88 :95

Question ID : 98958013621
Status : Not Answered
Chosen Option : --

Q.16 A,Bah(:#rma:ra@mas:s:2%rwmﬁmmm'§v#ﬁﬂﬁmaﬁ21'aiéﬁ

T S £ B 3Rl 37 FH F 40% ST F el 0 & I FEm?

Ans K124
X2 35
Vs 28
X4 21

Question ID : 98958013607
Status : Answered
Chosen Option : 3

Q.17 7z @feem 6 a¥ ¥ ghua fafdew orwat & &=h & =R F FEww F1 g T

Ll g

bad

A

C

2011 | 2012 | 2013 | 2014 | 2015 | 2016
500 [480 [520 [620 [650 [630
450 420 [530 [480 [520 |400
400 [450 [460 [520 [s40 [a30

fow = 6 ast & e o ew A gERT &= T wRY Fr twa g Fr § (e ¥ eean R we

TF)?

Ans K1 594.7
X 2 5927
V'3 566.7
X 4 586.7

Question ID : 98958013620
Status : Not Answered
Chosen Option : --

Q18 17 cm faeam a7 U I H, T AT FF T 8 om F g W 1 Shar ¥ FawE F4w §2
Ans - X115 em
v'2 30 cm
<3 25 cm
< 420 cm

Question ID : 98958013613
Status : Answered
Chosen Option : 2

Q.19 AABC~ANLM 3R ar(AABC) : ar(ALMA) = 4 - 9. TE AB=6cm, BC=8cm @M AC = 12 cm §,
ar ML sTreT g

Ans - X' 1.6 cm
X218 em
<3 9cm




V' 112 em

Question ID : 98958013616
Status : Answered
Chosen Option : 3

Q.20 The price of sugar is increased by 17%. A person wants to increase his expenditure by 5% only. By approximately what

percent should he decrease his consumption?

Ans X' 1.99
< 2109
V'3 103
X 4 10.7

Question ID : 98958013603
Status : Answered
Chosen Option : 1

Q21 y ¥ g 79 5 Bv 9 30T TE 8439 153, TEAT 99 ¥ =y &2

Ans X1 B
X23
v 4
K49

Question ID : 98958013599
Status : Answered
Chosen Option: 3

Q22 v Fwg # 25% IR x % & FHE G & g 3288 # A% Sy ¥ A W awg A

HfSha FFw 480 § & x & A FU &2

ans o120
X218
X316
X415

Question ID : 98958013602
Status : Answered
Chosen Option: 1

Q.23 50 et & v wam &, 40% =R § Off wem W e W 644 ¥ ik dmE @ e i

62 ¥ wrsfFaT = sitaa 3w Fam i

Ans X 1. 66.8

< 2 66.4

V'3 68

X 4 67

Question ID : 98958013601
Status : Answered
Chosen Option : 3

Q.24

Ans X 1.3:4

afE (5a-3b): (da-2b)=2:3% dra:baT g




X35

00

Question ID : 98958013605
Status : Answered
Chosen Option : 4

9% afr cosec20 = sec(30—15°) , @ 0 =W &
ans 1 010

< 2 20°

X3 25°

X 4 22°

Question ID : 98958013617
Status : Answered
Chosen Option: 1

Section : English Comprehension

Q.1 In the sentence identify the segment which contains the grammatical error.

Although there are more than a hundred known elements, they rarely occur at a pure state.

Ans X" 1 more than a hundred
x 2. they rarely occur
( 3. at a pure state

X 4. Although there are

Question ID : 98958012903
Status : Answered
Chosen Option: 3

Q.2 Select the correctly spelt word.
Ans  of 1 scissors

x 2. sweatter
x 3. clettering

x 4. teribble

Question ID : 98958012925
Status : Answered
Chosen Option : 2

Q.3 Select the most appropriate synonym of the given word.
HOSTILITY
Ans X" 1 sympathy
X 2. friendship
x 3. goodwill
J 4. enmity

Question ID : 98958012916
Status : Answered
Chosen Option : 4




Q.4 Select the most appropriate meaning of the underlined idiom in the given sentence.

Let us have all the regulations in black and white.
Ans X" 1. painted in colour

x 2. printed in coloured ink
x 3. written on the black- board

( 4. in writing

Question ID : 98958012920
Status : Answered
Chosen Option : 4

Q.5 Select the correct active form of the given sentence.

Rudra was laughed at by all his friends when he wore his socks inside- out.

Ans J 1. All his friends laughed at Rudra when he wore his socks inside-out.
X 2. All his friends will be laughing at Rudra for wearing his socks inside-out.
x 3. If Rudra wears his socks inside-out all his friends will laugh at him.

x 4. When Rudra wore his socks inside-out all his friends were laughing at him.

Question ID : 98958012905
Status : Answered
Chosen Option : 1

Q.6 Select the most appropriate antonym of the given word.

PUBLIC
Ans ( 1. private

x 2. ready

x 3. common
X 4. resticted

Question ID : 98958012918
Status : Answered
Chosen Option: 1

Q.7 Select the correct passive form of the given sentence.

They will put away their woollens after the festival of Holi.

Ans X 1. Their woollens have been put away after the festival of Holi.
x 2. Their woollens are being put away after the festival of Holi.
J 3. Their woollens will be put away after the festival of Holi.

X 4. Their woollens are put away after the festival of Holi.

Question ID : 98958012904
Status : Answered
Chosen Option : 3

Q.8 Select the word which means the same as the group of words given.

impossible to satisfy
Ans X" 1. contented

X 2. satisfiable
X 3. satisfactory

J 4. insatiable

Question ID : 98958012923




Status : Answered
Chosen Option : 4

Ans

A. He would sit at the edge of her mother's bed and stare into her crib.

Q.9 Given below are four jumbled sentences. Select the option that gives their correct order.

B. Arvind bumbled down the interminable corridor, suddenly reminded of his daughter in the

days after she was born.

C. As a proportion to the fragment of life his daughter had seen, an hour was a vast

sprawling space.

D. Some days he would imagine the world through her eyes and he would feel in his heart

how long an hour actually was.

/< 1.BCDA
<5 2.DACB
< 3.ABCD
o 4.BADC

Question ID : 98958012915
Status : Not Answered
Chosen Option : --

Ans

Q.10 Select the most appropriate antonym of the given word.

PROGRESSIVE

x 1. moving

( 2. conservative

x 3. repeated
X 4. aristocratic

Question ID : 98958012919
Status : Answered
Chosen Option : 2

Q.11
Ans

Select the correctly spelt word.

x 1. mantion
x 2. mentoin
#5 3. mension
( 4. mention

Question ID : 98958012924
Status : Answered
Chosen Option : 4

Ans

Q.12 Select the most appropriate option to fill in the blank.

Today,

( 1. industrialised

x 2. developing
x 3. growing

x 4. cosmopolitan

society is literally poisoning the earth with acid rain.

Question ID : 98958012926
Status : Answered
Chosen Option : 1

Ans

Q.13 Select the most appropriate meaning of the underlined idiom in the given sentence.

The invigilator did not know that the two boys were exchanging notes under his nose.

X 1. rolled into small pellets




x 2. written in small letters
x 3. wrapped in handkerchiefs

J 4. right in front of him

Question ID : 98958012921
Status : Answered
Chosen Option : 4

Q.14 In the sentence identify the segment which contains the grammatical error.

You may left the class when you have completed the test.
Ans ( 1. You may left

x 2. completed the test
X 3. the class
X 4. when you have

Question ID : 98958012902
Status : Answered
Chosen Option: 1

Q.15 Select the most appropriate option to substitute the underlined segment in the given
sentence.

If no substitution is required, select No improvement.

How long you are living in this city?
Ans  of 1 have you lived

x 2. are you been living

X 3. are you live

X 4. No improvement

Question ID : 98958012906
Status : Answered
Chosen Option: 2

Q.16 Select the most appropriate option to fill in the blank.

| am quite satisfied that | have not been
up their character.

Ans X" 1 caring
( 2. negligent

x 3. affectionate

in doing whatever was needful for building

X 4. devoted

Question ID : 98958012927
Status : Answered
Chosen Option : 2

Q.17 Select the word which means the same as the group of words given.

liable to break easily
Ans X" 1 bent

J 2. brittle
X 3.thin
x 4. soft

Question ID : 98958012922
Status : Answered




l Chosen Option : 2

Q.18 Select the most appropriate synonym of the given word.

INSULT
Ans 3 1. apply

« 2. offend
x 3. offer
X 4. remove

Question ID : 98958012917
Status : Answered
Chosen Option: 2

Q.19 Select the most appropriate option to substitute the underlined segment in the given
sentence.

If no substitution is required, select No improvement.

The female ostrich guards the nest at night and the male guard it in the day.
Ans X 1. guard it during the day.

x 2. No improvement
x 3. guarding it during day.

( 4. guards it during the day.

Question ID : 98958012907
Status : Answered
Chosen Option : 4

Q.20 Given below are four jumbled sentences. Select the option that gives their correct order.

A. It is a popular tourist spot for watching the sunset and sunrise over the ocean.

B. Kanyakumari is a coastal town in the State of Tamil Nadu on India's southern tip.

C. It is also a noted pilgrimage site, thanks to its Bagvathi Amman Temple and Our Lady of
Ransom Church, a centre of Indian Catholicism.

D. Jutting out into the Laccadive sea, the town was known as Cape Comorin during the
British rule.

Ans  of 1 BDAC

25 2.AcDB
5 3.BCDA
#% 4.DCAB

Question ID : 98958012914
Status : Not Answered
Chosen Option : --

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Marine Conservation Society is hosting the Anjarle Turtle festival 2019, aiming to make more
people aware about Olive Ridley turtles. The sea (1) get their names from their olive-
coloured (2) They grow to about two feet in (3) and reportedly mate at around
1000 kilometers from the Anjarle (4) These turtles come to the beach to lay (5)

SubQuestion No : 21
Q.21 Select the most appropriate option to fill in blank No.(1)
Ans « 1. turtles

x 2. animal
75 3.fish
X 4. snakes




Question ID : 98958012909
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Marine Conservation Society is hosting the Anjarle Turtle festival 2019, aiming to make more
people aware about Olive Ridley turtles. The sea (1) get their names from their olive-
coloured (2) They grow to about two feet in (3) and reportedly mate at around
1000 kilometers from the Anjarle (4) These turtles come to the beach to lay (5)

SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank No.(2)

Ans  of 1 shells

x 2. beaks

X 3. feathers

x 4. wings

Question ID : 98958012910
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Marine Conservation Society is hosting the Anjarle Turtle festival 2019, aiming to make more
people aware about Olive Ridley turtles. The sea (1) get their names from their olive-
coloured (2) They grow to about two feet in (3) and reportedly mate at around
1000 kilometers from the Anjarle (4) These turtles come to the beach to lay (5)

SubQuestion No : 23
Q.23 Select the most appropriate option to fill in blank No.(3)

Ans X" 1. depth
x 2. weight
x 3. growth
« 4. length

Question ID : 98958012911
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Marine Conservation Society is hosting the Anjarle Turtle festival 2019, aiming to make more
people aware about Olive Ridley turtles. The sea (1) get their names from their olive-
coloured (2) They grow to about two feet in (3) and reportedly mate at around
1000 kilometers from the Anjarle (4) These turtles come to the beach to lay (5) .

SubQuestion No : 24
Q.24 Select the most appropriate option to fill in blank No.(4)

Ans x 1. sea
75 2.sand
o 3.beach
x 4. festival

Question ID : 98958012912
Status : Answered
Chosen Option : 3




Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Marine Conservation Society is hosting the Anjarle Turtle festival 2019, aiming to make more
people aware about Olive Ridley turtles. The sea (1) get their names from their olive-
coloured (2) They grow to about two feet in (3) and reportedly mate at around
1000 kilometers from the Anjarle (4) These turtles come to the beach to lay (5)

SubQuestion No : 25
Q.25 Select the most appropriate option to fill in blank No.(5)

Ans  of 1 eqgs

x 2. pebbles

x 3. young ones

X 4. shells

Question ID : 98958012913
Status : Answered
Chosen Option: 1




